

St. Louis County, Minnesota



Date of Report: 5/8/2025 4:27:59 AM

				General De	tails					
Parcel ID:		415-0010-07	/510							
Document:		Abstract - 01	398140							
Document:		Torrens - 10	33251.0							
Document Date	e:	08/31/2020								
			Le	gal Descriptio	on Details					
Plat Name:		LAKEWOO	C							
See	ction	٦	Township	F	Range		Lot Block			
30 51 13										
Description: W 1/2 OF S 10 AC OF N 22 1/100 AC OF SW 1/4 OF NW 1/4										
				Taxpayer D	etails					
Taxpayer Nam	e	SWARD LIS	A RAE							
and Address:		5022 JEAN	DULUTH RD							
		DULUTH M	N 55803							
				0						
				Owner De	alls					
Owner Name SWARD LISA RAE										
Payable 2025 Tax Summary										
		2025 - N	let Tax	ax			\$5,099.00			
		2025 - S	pecial Assessme	ents		\$	\$29.00			
			•	tal Tax & Special Assessments			\$5,128.00			
		2025 -	Total Tax &	Special Asse	ssments	φ ο,1	28.00			
			Currer	nt Tax Due (a	s of 5/7/2025	5)				
	Due May 15			Due Octol	per 15		Total Du	e		
2025 - 1st Half Tax \$2,564.00			2023-2			20	25 - 1st Half Tax Due	\$2,564.00		
2025 - 1st Half Tax Paid \$0.00		2025 - 2	2025 - 2nd Half Tax Paid		\$0.00 20	25 - 2nd Half Tax Due	\$2,564.00			
2025 - 1st Half Due \$2.564.		\$2,564.0	2025 - 2	2025 - 2nd Half Due \$2,50		<u>54.00</u> 20	25 - Total Due	\$5,128.00		
		+_,								
				Parcel Det	ails					
Property Address: 5022 JEAN DULUTH RD, DULUTH MN										
School Distric		709								
Tax Increment										
Property/Home	esteader:	SWARD, RC	DLAND J & LISA	nt Deteile (20	25 Develate	2020)				
Class Code	Lloma	stood		nt Details (20	-	2026) Def Lan		Net Tax		
(Legend)	Home Stat		Land EMV	Bldg EMV	Total EMV	Der Lan EMV	d Def Bldg EMV	Capacity		
201		- Owner Homestead		\$395,100	\$484,100	\$0	\$0	-		
201	(100.00% tota				¢404 400	¢0	<u> </u>	4044		
	Total:		\$89,000	\$395,100	\$484,100	\$0	\$0	4811		







				Land D	etails				
Deed	ded Acres:	5.00							
Wate	erfront:	-							
Wate	er Front Feet:	0.00							
Wate	er Code & Desc:	W - DRILLED WELL	_						
Gas	Code & Desc:	-							
Sew	er Code & Desc:	S - ON-SITE SANIT	ARY SYST	ГЕМ					
Lot \	Width:	0.00							
Lot I	Depth:	0.00							
The	dimensions shown are no								
https	://apps.stlouiscountymn.	gov/webPlatslframe/frm				ions, please email PropertyTa	ax@stlouiscountymn.gov.		
			-		Details (RES)				
	mprovement Type	Year Built			Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	HOUSE	1960	1,3	374	2,142	AVG Quality / 1906 Ft ²	2S - 2 STORY		
	Segment	Story	Width Length Area Foundation				on		
	BAS	1	8	24	192	BASEME	NT		
	BAS	1	18 23		414	FOUNDAT	ION		
	BAS	2	24	32	768	BASEME	NT		
	DK	1	6	8	48	POST ON GR	ROUND		
	DK	1	6	9	54	FLOATING	SLAB		
	DK 1		16 40		640	BASEMENT			
	DK 1		18 17		306	BASEMENT			
	Bath Count Bedroom Cou		nt Room Count			Fireplace Count HVAC			
	3.0 BATHS 4 BEDROOMS		-			0 C8	AIR_COND, PROPANE		
			Impro	ovement 2	Details (DG)				
Improvement Type		Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE	1960	748		748	-	DETACHED		
Segment		Story	Width Length		Area	Foundati	on		
BAS		1	22 34		748	FLOATING	SLAB		
		Im	provem	ent 3 Deta	ils (2ND GARA	AGE)			
Improvement Type		Year Built	Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING		1960	216		216	-	-		
	Segment Story		Width Length		Area	Foundati	on		
	BAS 1		12 18		216	FLOATING	SLAB		
			Impr	ovement 4	Details (ST)				
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
	TORAGE BUILDING	2005	360		360				
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	15	24	360	POST ON GR			
	LT	1	16	24	384	POST ON GROUND			
1	E 1	•		4 7	007	1001010			





St. Louis County, Minnesota

		Improve	ment 5 De	tails (V	/ITH #3)					
Improvement Type Year		ear Built Main Floor		or Ft ² Gross Area Ft ²		asement Finish	5	Style Co	de & Desc.	
STORAGE BUILDIN	IG 1975	41	0	410)	-			-	
Segment Story		y Width	Width Length		rea	Found	Foundation			
BAS	BAS 1		10	60		POST ON GROUND				
BAS	BAS 1		35	350		POST ON GROUND				
DKX	DKX 1		10	10 90		POST ON GROUND				
DKX	1	13	18	2	234	POST ON GRO				
		Improvem	ent 6 Deta	ils (DK	ON TOP)					
Improvement Typ	e Year Built	Main Flo	oor Ft ²	Gross Ar	ea Ft ² B	asement Finish	5	Style Co	de & Desc.	
STORAGE BUILDIN	IG 1975	28	0	280)	-			-	
Segme	nt Story	y Width	Length Area		rea	Foundation				
BAS	1	14	20	2	280	POST ON GROUND				
DKX	1	14	20	2	280	POST ON GROUND				
		Sales Reported	to the St.	Louis (County Audi	tor				
No Sales informa					- · · · · · · · · · · · · · · · · · · ·					
		A	ssessment	t Histor	у					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bidg		Total EMV	Def Land EMV	В	ef Idg MV	Net Tax Capacity	
	201	\$89,000	\$364,7	700	\$453,700	\$0	9	50	-	
2024 Payable 2025	Total	\$89,000	\$364,7	700	\$453,700	\$0	\$	50	4,480.00	
	201	\$89,000	\$364,7	700	\$453,700	\$0	9	50	-	
2023 Payable 2024	Total	\$89,000	\$364,7	700	\$453,700	\$0		50	4,537.00	
	201	\$81,400	\$325,5	500	\$406,900	\$0	9	50	-	
2022 Payable 2023	Total	\$81,400	\$325,	500	\$406,900	\$0		50	4,063.00	
	201	\$43,600	\$286,7	100	\$329,700	\$0	9	50	-	
2021 Payable 2022	Total	\$43,600	\$286,*		\$329,700	\$0		50	3,221.00	
			Fax Detail	History	,					
Tax Year	Tax	Special Assessments	Total Ta: Specia Assessm	al	Taxable Land	Taxable Bu MV MV	ilding	Total	Taxable MV	
2024	\$5,077.00	\$25.00	\$5,102.	00	\$89,000	\$364,70	00	\$-	453,700	
2023	\$4,831.00	\$25.00	\$4,856.	00	\$81,276	\$325,00)5	\$4	406,281	
2022	\$4,281.00	\$25.00	\$4,306.	00	\$42,599	\$279,53	34	\$322,133		







Date of Report: 5/8/2025 4:27:59 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.